


@) Draow counters fo complete the

part-whole model

&) Complete the part-whole model.
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&) Complete the part-whole models. OO
Find two different ways.

P

E) Use the picture to complete the

number sentence.

BEBHRNAA
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© Corrplete the number bond.

0 =8 +

O Jock has 8 pennies

He spends 3 pennies.

How many pennies does he have left?

&) Rosie spends 10p.

Circle the two items she buys.

Yp 5p 6p /p

pennies
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) Use the picture fo help you complete

the number sentences.

2 +5 =
S + =7
—
e
=2+5 —
2=17-

& Write <, > or = fo complete the

number sentences.
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Answers

" db

ﬁ 2+5=7

e Q e5+2:7

/ =2+23

a 0 2=7-5
I o e SRR
8-0>8-2




